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1. care 2. forgive 3. knowledge 4. responsibility
(lawsgin) (Jl (192) (0303 +/B 3,90 y2)
5.2 6.3 7.1 8.1
(D) (ol 039) (0 503 +[O 390 yd)
9.c 10.a 11.b (0503 +/8 3y50 y)
V| 12. areceptionist (o505 +18)
13. tomorrow (o yes 1)
14. He' s out of the office. (o yoi V)
15. Sheaskshim to call her when he'sfree. (s yoi V)
(5lg0) (SLS 31 z,1)
16. magnifying glass (or magnifier) 17. temperature
' (o) (p30 3 Jol wg30) (0303 /O 3 90 yB)
18.c 19.e 20.a 21.d
¥ (W) (030 3 Jol w339) (0303 +/O 3 g0 )
22. contain 23. combination 24. boosts 25. definition
f (L gso) (293 9 J3l (99y0) (0303 +/O 3 y90 pB)
26. introduction 27.diary
4 (W) (030 3 Jol w339) (0303 +/D 390 )
28.2 29.2 30.4 31.3
¢ () (235 3 Jol wsyo) (0303 /O 3,90 )
32. learned 33. have been added 34. had 35. were weaving
Y (l369) (295 9 Jol 9y2) (6 p0d +/O 590 y2)
36. The cat which lives near uswas drinking milk.
A 37. Thefootball player whom you met last year iscomingto dinner.
(bawsgio) (33 o) (0303 ) 3590 y2)
38. Thepigeons arefed in the park.
! (fawgin) (J3l o) (0 p0d V)
39. and 40. but 41. s0 42.0r
" (o) (Jgl 39) (0303 +/D 390 )
43. 1 would accept thejob /...
1 44, our teacher recommended / ...
(bawgin) (p95 (199) (0303 1 3590 y2)
45, Thereissnow in the street, but it’s not too cold.
\y | 46. 1 found the keysthat | lost yesterday.

Glgs) (pgd 9 Jgl pogy®) (6903 Y 3590 y2)
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47. What isa dictionary?

It isa book which explains the meanings of words and expressions.
(or What istheorigin of theword ‘dictionary’?

WY It comes from the Latin ‘dictio’)

48. Why can you / we find words easily?

Because dictionaries put them in alphabetical order.

(1g0) (Jsl 959) (0303 1 090 y2)

49.3 50.4 511 (o) 390 y»)

52.2 53.3 54.3 (o005 390 y»)

55. The problem of adding numbersfrom 1 to 100. (o s 1)
\¥ | 56. At the age of 17 (her last year in high school). (o e )
57. No, they didn’t. (o i)

58. False 59. False (o i +/8 5,90 y»)

(lw gio)




